


Compilation of Existing Design Data of Stepped Face Seawall
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Synopsis

Recently, the stepped face seawall has been constructed in various places as the
shore protection structure. The function of the stepped face seawall is not only to
protect the shore and structures behind it from waves and storm surge, but also to
create the place for sea bathing, strolling and fishing by harmonizing the seawall
structure with the environmental conditions around it.

Since the comprehensive design method of the stepped face seawall is not
established yet, we gathered the information concerning design of the stepped face
seawall by the questionnaire to the management bodies of the shore protection
structures as the material for establishing the comprehensive design method.

In this note, principal design conditions, design drawings and photographes of

the stepped face seawall at 107 places are compiled.

* Senior Researcher, Design Standards Division.
*# Member of the Design Standards Laboratory, Design Standards Division.
**% Chief of the Design Standards Laboratory, Design Standards Division.
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